Date: Name:

Measurement of Length Word Problems
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1. A train travels 300 kilometers from Town A to Town B. If town C is 150 kilometers from town B, what
distance will the train travel to reach town C from town A?

Ans: 300 + 150 =450 kilometers
So, the distance between town C and town A is 450 kilometers.

2. The length of a rectangular garden is 25 meters, and its width is 15 meters. What is the perimeter of the
garden? [Hint: Perimeter of a rectangle = 2(Length + Width)]

3. A piece of ribbon is 8.5 meters long. If you cut it into pieces, each 2.5 meters long, how many pieces
will you have?

4. Sara walks 2 kilometers every day. How far will she walk in a week?
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